Rechnen von 1 bis 10

1. Lickenrechnen (Minus)

7 - -7 = -6 =
8 - -3= - =
9 - -4 = -1 =
7 - -2 = - =
8 - -4 = -5 =
2. Tauschaufgaben.

1|+ |4 + |3 [ |+ |2
4 |+ |3 - |4 7 |- 15
3|+ |5 - |9 9 |- |7
3. Immer 5.




Rechnen von 1 bis 10

1. Luckenrechnen (Minus)

7 - 5=2 8 -7=1 6 -6 =0
8 - 4=4 9 -3=6 7 -5 =2
9 - 3=6 7 -4=3 6 -1 =5
7 - 4=3 9 -2=7 9 -6 =3
8 - 6=2 6 -4=2 6 -5 =1

2. Tauschaufgaben.

1|+ (4 =15 8|+ (2 [=110||7 |+ |2 |=19
4 1+ |1 |=|5 2 |+ |8 =110 (2 |+ |7 |=1|9
4 |+ |3 |= |7 9 |- |14 |=1|5 7 |- |5|=12
3+ 14 |=1|7 91- |5 |=14 7 |- 12 |=15
3(+|/5(=18 6 |- |5|=]1 9 |- |7 |=]2
51+1|3 =18 6 |- |1|=15 9 |- (2 |=17
3. Immer 5.




